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oS 1389 ¥ 0 9 oAOBC °)A
AC = 4cm, /ABC = 30°, /AOB =
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D 2v2+2V3 @ 2v2+2+5
® 2v2+2V6 @ 2V3+2+5
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13. th 2 ol WAE Y Qolrh1 A A AA Th BE ol g3t
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0] B D T
(atZth|o] H#)

T sin cos T tan
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724

@ 0.2807 @ 0.3179 ® 0.6821

@ 0.7314 ® 0.9657



14. oF 293 Zo] 252 dol7h 1 9 ARZelA OC = 0.59 & o,
AB +CD 9| dol& +5t3?

B z | sin x| cos 7 | tan z

D 53°| 0.80| 0.60 | 1.33

1,// 54°| 0.81]0.59 | 1.38

// 55° | 0.82]0.57 | 1.43

& 56° | 0.83]0.56 | 1,48
(@) C A

D 2.25 @ 1.38 @ 2.19 @ 1.93 ® 0.81



